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answering. ) ]

There are 100 questions in the test. Sisie g SO0 SIGE]

Since all questions are compulsory, do 6. TR Wl wes afrard ¥ swferg swv 3
not try to read the whole question paper I B A @ R 9¥H 9 Bl g DI
before beginning to answer it. PR 7 BHifT|

7. you do not know the answer to any 7 afE ama R 9o 1 SR T8 W ¥ 9 99
question, do not spend much time on it i
and pass on to the next one. Time b ey E" s i 'E'mq_".ﬁ
permitting, you can come back to the wirgel afy e ¥ @ e @ fm w31
question, which you have left in the first 39H g BIs f&ar on $9 UR gF: 9199 3R

eyl
instance and try them again. TP ST 9 BT YT Hifora]

8. Since Fhe tlmg g"oned for this question 8 . T9ifs = wes TH @ fore FuiR aga
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best use of it by not spending too much v &, gferg gwa siftrmas SR BT
time on any one question. IR 5 U wes W) 9gd w9d | @msel

9. Rough work can be done anywhere in 9. Y& T = YRaw § =& A fvar on "
the Test booklet but not on the Answer ¥, Rr=g SR TE/3IeRT BT TR T
sheet/loose paper. ¥

10. Every correct answer will be awarded one 10 ¥ W& SR & fAQ 1@ 3w war= feam
mark. g

11. Please return the Answer Sheet to the 11. 390 T B AT ST I BrSEs o e

invigilator after the test.
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Prokaryotes are the organisms which are
characterized by -

1.  Well defined nucleus
Absence of cell wall

Absence of chlorophyll

oW N

Absence of nuclear

nucleolus and nucleoplasm

envelope,

Which of the following is not present in an
animal cell?

1. Ribosome

2: Plastids

3. Mitochondria
4

Endoplasmic reticulum

These are heterotrophic, eukaryotic
organism having their cell wall made up of
a complex sugar called chitin -

1. Algae

2. Fungi

3. Bryophytes

4  Gymnosperms

Development of muscle cramps during
sudden activity is due to accumulation of -

1. Lactic acid
2. Lactose

3. Lactogen
4

Lactulose

Thyroxin regulates which of the following
metabolisms in the body -

1. Carbohydrate metabolism
Protein metabolism

Fat metabolism

oo

Carbohydrate, Protein and Fat
metabolism

I

9]

=

3.

yeEeE Sta fFg goft o fafea feo s 82

2. wiferw fasit 1 srafeefg

#f T (Frifee) # st

4. R STERT (SJEAEY AT ), ~Jaeierd
el =JFATEsy i Saretd

)

S HIRER H e o o 9 suftem @ g

3. WHTEERIfTEa
4. TEATSTFR 3 EEaGL

= o 9 uw Sfa F W E S g qen
Aifre G =+ BN & 58 wEfeT Far s 22
. 3 ()

2. BT (FEHS)

3. SRR

4. fooeeTd

WA H eEEE hH S @ HE0 §
Frfafea =1 s g

. wifees ufees
2. WM

3. SERSH

4. HFAE

qURdE IR # e A 9 few wm ufEe
(TerEifess) 1 ffa v 22

T (He) HerEifeH
FERESE, WA T TH HrEfesy

E O ]
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6. The gap between two neurons is called - ¢ & =R & A9 H W H HE I -
1. Axon . T
2. Internode 5. FErErE
3. Synapse 3 3;11??
4. Dendrite 4. ETEwEe
% Deficiency of lodine in the body can cause- 7. YA T oSN ¥ W W B T § -
1. Kwashiorkar | AT
2. Marasmus 5 TR
3. Goitre Pt
4. Rickets 4. Tbem
8. Buds produced in the notches along the

- A b | 8. ftwram #1 ufvdi & wdw W HerE w1 I
eaf margins of Bryo um, develop into % S 5 - % % S
0 g p R foe g=1 o fime =8 919 & ®9 | 3 F

new plants when they fall on soil. This is a

mode of - ufsran fre @e &1 g5 82
1. Sexual reproduction 1. Sifies wSA
2. Asexual reproduction 2. AT WA
3. Vegetative reproduction 3. afteafas (Ssrefea) wsmm
4. Parthenocarpy 4. YREAERRET

9. In plants, growth of pollen tube towards

) 9. |l § g AfereRief @1 o R R ",
ovule, is an example of -

1 Ch t . Teh 3e0 % ............ Eall
. emotropism
i 1. ety
2. Thigmotropism .
2. formreafosy
3. Haptotropism 2w
3. TREUTsH
4. Phototropism .
4. RIS
10.  Which of the following is not a component _ _ -
of Xylem? 10. = & @S9 @ am e 9 getad T8 e
1. Vessels 1. =HeH
2. Tracheids 2. THIEH
3. Fibres 3. e
4. Sieve tubes 4. ¥ g
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1l

12:

13.

14.

18:

An animal cell shrinks when placed in a
concentrated sugar solution. Such a
solution is known as -

1. Hypertonic
2. Hypotonic
3. Isotonic
4

Neurotonic

Which of the following cell organelle does
not possess a double layered covering?

1. Chloroplast *
2. Nucleus

3. Mitochondria
4

Vacuole

In plants, translocation of food and other
substances take place through sieve tubes
in-

Upward direction

Downward direction

Lateral direction

F W =

Both upward and downward direction

Mendel is popular for postulating -
1. Origin of species

2. Cell theory

3. Linkage theory
4

Laws of inheritance

Skin becomes yellow in Conc. HNO, as -
1. HNO,acts as an oxidizing agent

2. HNO, acts as a dehydrating agent
3. Nitro - cellulose is formed
4

The proteins are converted into xantho
proteins

11.

o= R & faermm o 9 S IR S T
Sl € W = Taeg S ¥ 39 e & faerd
I FEl A E -

l. EETETH
2. TR
4. =S

= d 9 A 9 FIfE e |l wWd $
JEOT 9 B Rl e /-

. FARA=E
2. FEH

3. TSR
4. FFA

Tl H ST 9 A Rl & wEa % fern
2

. FW H IR

2. = w AR

3. A (STe-aer) fvmed o

4. FTW F A AN I

e fFa saumon & fou ufag gu?

1. Sl = g

2. iR fagia

3. TAeE (gEen) fagia

4. Furgwn fagia

= HNO, = H¥7e | 3H 9% o= &1 I dien
g W@l § FifE -

I. HNO,T# STafishv Usiz 1 &1 Hdl &
2. HNO,T# fsiefihto usiz &1 %/ e &
4. WEA SFel YN ¥ W% S &
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16.

17

18.

19:

20.

When two liquids in a mixture differ by their
boiling points, which of the following is the
best method to separate these liquids?

1. Evaporation

2. Distillation

3. Chromatography -
4

Filtration

Which of the following is a chemical
change?

1. Melting of ice
Dissolving salt in water

Rusting of iron-

IR SN

Boiling of water into steam
Buckminsterfullerene is an example of .....
of carbon

1. an isomer

2. an isotope

3. an allotrope

4. a functional group

The gas used in welding and cutting metal
is -

1. Ethyne
2. Ethene
3. Ethane
4. Propene

Which gas is released when a metal
reacts with an acid?

-
2. 0,
3 H,
4. SO

16.

119:

5@ f9=1 Faueis & < g9 & o 9 a8
Yo I Bl Al 39 ferw e 9 $E 9
foran sy fag =rfi?

1. arofieRor
2. ETEEA
4. wNEA

= 5 9 #F W U TEEteE aeeng 22
. =% a1 faeemn
HE B AT H e

8%

3. @’ H S e
4. 331(:13\ :]'.‘f Rl 9rq T{ EE{GE]|

2. UH HHEAAE (EEREM)
3. UH HUEY (UEART)
4. UH FHEHE TR

T S g w6 AfeeT TS e | WS I Sl
TAEE -

l. 3
2.zl
3. 3o
4. HdHA

S ferddt =g = TRl et & erfaferan w1 it
? 9@ ®W W@ g fer @2

I Cl,
2 O,
3. H,
4. SO
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21.

22,

23.

24.

Hydrolysis of water is which type of
following reactions?

1. Endothermic
Decomposition
Both 1 and 2

<l

Combination

When a burning splinter is brought near the
gas jar containing hydrogen gas a popping
sound is observed. It is due to -

1. exothermic

2. endothermic

3. exothermic and endothermic

4. None of these

Silver chloride turns grey when placed in
sun because of the formation of which of
the following when placed in sun?

A. Silver metal

2. Carbon dioxide
3. Silver oxide
4

Silver sulphate

When copper sulphate solution reacts with
iron metal, copper metal is formed. This
reaction comes under which of the
following category?

1. Decomposition reaction

2. Single displacement reaction
3. Double displacement reaction
4. Combination reaction

21.

929

23.

24.

S-S (BESensiad) o wem =i eifufan
22

I SEETITHT

2. ATEEA (M)

3.1 uF 2 g

4. HASH

4 UH Serdl g2 @oTE i BEgeT W g 9
BU SR % WHM o Sl € Al Uk e At

1. Soaredl
2. HEHTIIHY

4. TH H FE @I

S faeat FANEE g F YH | W S
g Fe = 0 9 g % FwRo =@ I oW oA
e 872

T I I

3. foeer sifmEze

4. foea wowe

A FHW Hehe H A ol uig 9 afafm
FIA T A RW GG WA B | T AR
= o 9 fFg goft o et 22

1. eAees sAfafw

3. =ad foramm wifafswen

4. wHASH AfafEman

1o
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25.

26.

27

28.

When 0.01 Kg of CaCO, is decomposed >
the CO, produced occupies a volume at
S.TP -

1. 2.2414 dm?®
2. 22414 dm?®
3. 22414 dm?

4. 224014 dm?

Which of the following method is suitable
for preventing an iron frying pan from
rusting?

1. Applying grease

2. Applying paint

3< Applying a coating of zinc

q.

All of the above

Aromatic compounds are given this name 57

because of -

1. Slippery touch they have
2. Bitter taste they have

3. Sour taste they have

4., Smelly they are

Pick the false statement - 28.

1. One can calculate uniform acceleration
from velocity-time graph.

2. One can calculate non uniform
acceleration from velocity-time graph.

3, One can calculate velocity from
distance-time graph.

4. One can calculate speed from
distance-time graph.

5.

26.

s 0.01 fm CaCO, 1 famed faan wmw i
s CO, 5/ |k AT9HE Ud qard WX fahe
A weul T smam?

I. 2.2414 dmd

2. 22414 dm?

3. 22414 dm?®

4. 224014 dm?

frfafea o o =F = fafa &g & wEn 9= F5
S T 9 FE 9H % fog sfua 22

1. I R

2. T-TH #WW

3. s (fSf) =1 9 ="eE

4. SUEFG H@HY

FifF @' -
1. o9l o fae €
2. =K 4 HEd B
3. =R A EE R
4. Tifeg €

A FHUA BT -

1. A-99F AE § HH-01 Bl AT S el
2

2. FN-UHA AN W ITEHE-0 i " S

3. Th-Tmg s | A & A S e ©

4. TH-TWE @ | A w WA S Hehel €
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29:

30.

31.

32.

33.

Pick the fundamental law of motion -
1. Newton's first law of motion

2. Newton's second law of motion
3. Newton's third law of motion
4

All laws of motion

The mass of an object is 10 Kg on earth.
So we can say -

1. lts weight on earth is 10 N.

2. Its weight on earth is 1.67 N.
3. Its weight on moon is 10 N.
4

Its mass on moon is 10 Kg.

Pick the correct statement -

1. Energy is a physical quantity and work

is a mathematical quantity.

2. Work is a physical quantity and energy
is a mathematical quantity.

3, Both energy and work are physical
quantities.

4. Both energy and work are
mathematical quantities.

A sound wave has a frequency of 2 kHz
and wavelength 35 cm. How much distance
it will travel in 2 seconds.

1. 14 m
2. 14 m
3. 140m
4. 1400 m

The vibrations are amplified several times
in the middle ear to the bones known as -

1. Anvil

2. Stirrup
3. Hammer
4. All of the above

29.

30.

nfq =1 goa-fasia g -

1.

"

3.
4.

=2 w1 9UH a1 fagid
= w1 gaE fa w1 fagia
nfa & 9 fagra

TH 5 F YA W FATH 10 kg B 3Fd: =W
FE Thd € T -

N

-

J.

el W THF 9R 10N ®
el W TEEH 4 1.67 N =
A T THHT 98 10N 7

4. TEE W THH 9E 10 kg
& weE Brifey, -
e
o #
TF A T HI AGE 2 kHz © 3R aesd

35cm el 2 T%T ° =W fHadt it ag won?

1.4 m
14 m
140 m
1400 m

T % WA FH efegdl H HU F2 0N yafeq

ol

e (=f=er)
a1 (fresf)
gE (BW)
SYE Ty
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34.  You are provided with a concave lens 34 syoa TF Faqe oiF 5o T foue v
e . s 515 12 o 1 -
distance of image from lens? FLIWM T W@ AH | B H G @

1. 5em l: 5.em
2. 10cm 2. 10cm
3. 5m 3. &m
4. 10m 4. 10m

35. At the traffic signals, red light is used for 35, gfqﬁg el 9T et U TS % o e
hansTon Theramareningg .0 ¥ Wt T 6 St S e
is known as - ffed 9o Feemra & -

1. Reflection I. 9T 1 wfdfes
2. Refraction 2. YRIYT R IS
3. Dispersion 3. W@ H1 GHoE (fagsi)
4. Scattering 4. Y9 w1 foaua (hena)
36. Alloys are commonly used in electrical 36. fagemgstt =1 swEm yE: fased & o e

heating devices, like electric iron etc.
because -

1. Alloys have higher resistivity than that
of its constituent metals.

2. Alloys do not burn at higher
temperatures.

3. Alloys do not oxidise at higher

o IUHON W OB e W9 fasenr ® e
-

L

[

fagumgen w1 ufaus amd 3Ed Ues
(s1eE) uged 9 eAfes 2 2
fagaEy 39 a9EE W Serd T8 8l
TasreTqd S=9 A I SEHd el Bl

temperatures. 4. SUUE gt

4. All of above.

37. Suppose five resistances, each of 10 ohm, 37.
are provided to you. You are free to get the
desired value by combining them. The
desired value will lie in between -

1. 2 ohm to 50 ohm

2. 20 ohm to 40 ohm
3. 12 ohm to 50 ohm
4. 10 ohm to 60 ohm

1 wifsre f &9 =61 10 ohm & = Afauess
feu T €1 snusl fRdl off Ufese wH w1 wrE
FE K e o T G W 2 tfmw WA A
sqafeafa A AEl & == BE?

1. 2ohm ¥ 50 ohm

2. 20 ohm ¥ 40 ohm

3. 12 ohm ¥ 50 ohm

4. 10 ohm ¥ 60 ohm
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38.  Calculate the electricity bill for 30 days of a 3¢ wep ww = 30 i & faseh & faa =1 T
house in which a bulb 100 W operates for

I 595 100 W =1 ded 6 He/ufdfad et
6 hours/day, a fan rated 80 W operates for ’ A

10 hours/day and a refrigerator rated 400 1, B0 W =1 @ 10 =e/Afafes =erar 21l $iv
W operates for 24 hours/day. Assume the 400 W =1 TSt 24 =e/ufafer =emn =n af
cost of energy is Rs. 8.00 per kWh. farstelt =77 =4 8.00 T9F ufd kWh TET S|
1. Rs.26.40 l. 26.40 ¥

2. Rs.264.00 2. 264.00 ¥
3. Rs. 2640.00 3. 2640.00 T

4. Rs. 26400.00 X
4. 26400.00 ¥4

39. The magnetic field inside a current 3% 91 HIHI femfersh fomm fomam =8 @ 2

carrying long straight solenoid is o g & E-

1. Zero 1. A

2.  Uniform 2. UWHRHHH

3. non uniform 3. 3TUEE

-4. cannot say as the data is insufficient 4. el T8 SN G&ar =it o e frefaer
40. Choose the medium most suitable for the 0. o= =i i &1 & feru zoeh s

core of electromagnets PRE FH ® fau ®F @ mem gden sfEa

1. air B2

2 wood 1. =g

3. soft iron 2. AHE

4. steel 3. e

4. =@

41, Taille was - 41. 2= F= oar?

1. Unit of currency in France

1. WRF @ g
2. Tax comprising one tenth of the 5 & $ Fcll =
agriculture T ‘ \ o

3. Tax on salt and tobacco

)

4. Tax to be paid directly to the state B

4. HIET WA R AR e SE Amen =
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42.  Who advocated the policy of abolishing 42, w=dy wra o faradi & 96m9 0 F1 999
Princely states in free India? RO fpar an?

1. Vallabh Bhai Patel
Mahatma Gandhi

. Feay YR 9oa
2. HETHT T

2
3. C. Rajagopalachari - ” S
4

wahar Lal r %
o el e 4. AR o Tew

43.  Allegory is - 43. TUF T -
1. Painting of Germania 1. ST 1 e
2. Expressing an abstract idea through a 2. Tt onqd famm =1 Tt =afea =n =ist =
person or thing wiftw =i
To portrary nation as female figures 3. U= FH A Y9 o wEA R S

Attributes to liberty 4. EE YA
44.  Who said 'In my state the mother is the most

44. =E fHFE w1 o ‘T T FI GEH HewEyul
important citizen'?

s |7 ®'?
1. Mahatma Gandhi 5

I. HETeH e
2. Charles Darwin : "

2. =ed =ifeA
3. Herbert Spencer e

3. BdZ WHT
4. Hitler

4. fezem

45.  Which of the following novels is not written

45. Trefafeag § 9 S8 W 379 YTER 50 =
by Premchand?

& 82
1. Godan .
Rangbh s
2, an oomi F
g 2. gy
3. Anandmath )
3. 3AM<HS
4. Sewasadan .
4. Ha™E<A

46. Dhangars are an important pastoral 44 & =g A foha w891 1 Hewgel wHEE
‘community of - N

©?
1. Karnatka N .
2. Maharashtra 5. HeRTE
3. Andhra Pradesh -
4. Gujarat 4. TR
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47.

48.

49.

50.

The great bath of the Indus valley
civilization was discovered in -

1. Harappa

2. Lothal

3. Mohanjodaro

4. Ropar

Choose the correct chronological order for
the following -

a. Jallianwala massacre
b. Rowlatt Act

c. Poona Pact

d. Lucknow Pact

1. 4,¢b,d

2. byadc

3. 6, b;a,d

4. d,b,a,c

Under the inland Emigration Act of 1859 -

1. Plantation workers were not permitted
to leave the tea gardens without
permission

2. British government banned the entry
of workers in the forests.

3. Workers were brought to work after
signing an agreement.

4. Workers left the plantations and
headed home

New International Economic Order (NIEO)
means a system that would give G-77
countries -

1. Real control
resources

over their natural

Fairer prices for raw materials

Better access for their manufactured
goods in developed countries

4. All of the above

47.

88.

49.

50.

oy = F T § WeH AN el 9

AT eq1?

. BT

2. @Y

3. TEASEE

4. T9g

a. SiferEiaren =am e

c. YA U

d. TEAs e

l. @.¢6,b,d

2. bya,d;,c

3. ¢ b.a d

4. ¢c,b,ad

vE YA UA 1859 % ded -

I. AN H 19 A el TSl okl & 3
AN W AT S W e ALS Bl eff

2. STUSH TR 3 Sel H Al % qifEe 86
T rEEl e

3. TEgH I HwH wH F fow us winge &
qEA AT ST
Trq

THE-77 (S-77) & fou == fmicda enfefs

ot (NIEQ) =T 3119 Uk UHT =Fae § o

g 3= -

. o9 TEeEl W 9E wEl | e fue
Een

2. T=d A % e I A @

3. U JAR e W1 famfa du ® A o

4. FY FAIC T
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5.

52.

53.

Read the following statements and select 5.

the correct option thereafter -
Statement-1

Among its sporting ancestors hockey can
count the Scottish game called shinty, the

English and Welsh game called bandy and
Irish hurling.

Statement-2

Hockey like many other modern games was

invented by the colonial officials in India and

soon gained popularity.

1. Statement-1 is wrong, Statement-2 is
true

2. Statement-1 is true, Statement-2 is
wrong

3. Both Statement-1 and Statement-2 are
true

4. Both Statement-1 and Statement-2 are
wrong

n
o

In about the 1660's the farmers in many
parts of England began growing turnip and
clover because -

1. The spread of railways made it easy to
transport the crops to the eastern coast
for export

2, These crops had the capacity to
increase the nitrogen content of the soil

3. The farmers earned huge profits by
selling these crops

4. None of the above

'Vande matram' was written by -

N
Fody

Muhammad Igbal
Bankim Chandra Chattopadhyay
Rabindra Nath Tagore

o e i

Abanindranath Tagore

Frefafed geae &1 98 2R 21 fou v fasment
T

FHIT- |

hedE W T S A e U8 wiw enfew
s HE S 2

TR -2

o simfEfes sfawifel 3 ava o fowfaa
I. THeA-1 Ted €, geea-2 HWel §

2. GFEA-1 WE €, TeeA-2 e @

3. G- al gEe-2 Wel ©

4. I~ q TEISA-2 e §

1660 & I § eie % HE fewdi # fFEm

Yo 3 faufasn =mE # B W e 9

it

I. @€ % YER 9 3 wHel @ A % fom
T T W T S STEE 'O

2. THY WHA H AEeeE w1 O R 9 ww
S ot
o

4. TAH 9 FE TE

o e A -

. HEeWE THaE
2. d@feFm == w=EMEE
3. ey R

4. ST R
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54.

55.

56.

Consider the following statements and s4.

choose the correct

thereafter.

option, given

During colonial rule Indian peasants were

unwilling to grow opium because -

a. The crop had to be grown on the best
lands.

b.  The cultivation of opium was a difficult
process.

c. The price paid by government to the

cultivators for the opium they produced
was very low.

d. The crop had no demand in the

market.
1. a, b, d
2. b,ed
3.' @,b;¢
4. a,c,d

Napalm refers to -
1. a defoliant, a plant killer

2. an organic compound used to thicken
gasoline for firebombs

3. Phosphorous bomb

4. None of the above

The layer of atmosphere that provides ideal s,

condition for flying of jet aeroplane is -
1. Troposphere
2. Stratosphere
3. lonosphere
4

Exosphere

N
N

frfafen FHoml i samyds Tea fau T wE

fasren =1 g

aF & fou dER T en witE -

a. THaH =1 o\ F1 @ 99w 38 e
T T BT e

b. %A I i FE1 Yivwrer 9 2 off|
HH IM Al

d. @SR | HH R WA AET e

.. a;b;d
2. be;d
3 a.b,e¢
4. a,c,d
AATH AT 17

. Th U Wl fomd fPEwm 9 Ui w
A T % el 1 wa § e 59
Al FESHIS

3. TRIERRH 99

4. 3H 9 HD T

[§5]

AR FHI qe WA Y S agEE % 3=|
9 T SRR T ¥ -

l.  &Eee

2. HHaT HUge

3. AR HUed

4. aEMUEa
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57. Maldives islands are situated to the ........ 57. HEEE B9 NG THE F oo e fremg 2
of Lakshadweep Islands. 1. =fer
1. South 5 T
2. North 3. 7
3. East 4 ofvEm
4. West

58. Tropical Evergreen Forests appear green 38 3™1 FHicaH FEEeR I Wel W T W A
all the year round because - g it -

1. It has luxuriant vegetation of all kinds - I. Tl B WK &I oeata - ger, @A 9
trees, shrubs and creepers. Tt T E)

T T & TN TR FEdl

3. Jef =l agd wifues el 2

4. vaze w1 w fAfvaa 99 @ e

2. The trees in these forests do not shed
their leaves.

[§9)

3. The forests receive heavy rainfall.

4. There is no definite time for trees to
shed their leaves.

59. Which of the following rivers is not a 59 =z 9 s i T H1 TeEH & 7@l 27
tributary of Ganga?

1. ==
1. The Ghaghra . 5
2. The Kosi :
‘ 3. Had
3. The Chambal = .
4 4. U9 M0

The Penganga -

60. Match List-l with List-Il and select the 0. H=i-1 &1 e g=i-2 § H4 30 HE faspeq
correct option.

=1 A FHA
List-I List-ll T e
A. Mawsynram 1. Tropical Cyclones A, T 7 o mpe—
B. Assam 2. Houses on stilts B. 3T9H > =g & @ W
C. Andhra Pradesti 3. Stalagmite and C. =g W= 3. Tz T
stalactite caves S
D. West Bengal 4. Kaal Baisakhi D. ufo=m =l PRy

t. A-2,B-3, C-1; D-4
2. A-4,B-2, C-3, D1
3. A-3,B-2,C-1,D-4
4. A-3, B-38, C-8, D-1

1. A-2,B-3,C-1,D-4
A-4, B-2, C-3, D-1
3. A-3,B-2,C-1,D-4
4. A-3, B-3, C-3, D-1

o
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61. If a person wants to visit the national parks 1. =ifz =7 =afaa T, HE 3R e T
in Sariska, Corbet and Sunderban, to which
one of the following states he need not go
in this connection?

SaEl | S SEd © o 39 frefatea § |
FE 9 T H AR S 82

1. Rajasthan I STE

2. Kerala 2. e

3. West Bengal 3. 9= 9
4. Uttaranchal 4. IAUHA

62. Which of the following statements is ¢2. fy=fafEd & ¥ S @ FoF T8 T8 27

incorrect? Tl T F qe W TeEE TEm F fed W &

Factors responsible for location of jute mills
in the Hugli basin are -

FOT B -

2. = TmH T giaemd
2. Port facilities for the export of jute ﬁ_mﬂ . g
goods 3. UEHd &I 9E A0

1. Proximity of the jute producing areas

3. Heavy demand of jute goods 4. WEH, T 9 Sl G h Sl

4. Good network of railways, roadways
and waterways

63. The red soils develop a reddish colour due 63. el ST 1 I TR g ol 2 87

to - I SHFge 3 sfa wyEmRe

1. Deforestation and overgrazing C 2. UEW SR WEIREE e W

2. The presence of Potash and 3. TEER AT R wulaiE =g 6 oe @
magnesium S ——

3. Diffusion of iron in crystalline and
metamorphic rocks

4. oMESEE Vel 9 a1 # R0
4. Formation from the lava flows

64. Which one of the following pairs is 64 f=fefed H | HH W OAA HE T 22

incorrect? 1. e fevor - Hewmews Sifd
1. Black Buck - Endangered species 2. el 9T - guw wfa

2. Blue Sheep - Vulnerable species 3. feue™ 99 - S S
3. Himalayan Yew - Endangered species 4. WEH - HHREA S

4. Mahua - Endangered species

Pioneer Education | SCO 320, Sector 40-D, Chandigarh +91-9815527721, 0172-4617721 Page 16 of 26
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65.

66.

67.

68.

The river that makes Sivasamudram 5.

waterfall -

1. The Kaveri

2. The Krishna
3. The Narmada
4. The Godavari

Particulate matter in the air can be reduced

by -

1. Fitting smoke stacks to factories with
electrostatic precipitators

2. Fabric filters, scrubbers and inertial
scrubbers

3. Using oil or gas instead of coal
4. All of the above

Identify the right pairs from the following 67-

and choose the right option, given
thereafter.

Place Sources of energy
A. Nagarcoil . Nuclear

B. Tarapur 2. Hydro electricity
C. Damodar Vally 3. Wind

D. Madhapur 4. Solar

1. A-2,B-1,C-4, D-3
2. A-3,B-1,C-2, D-4
3. A-4,B-3, C-2, D-1
4. A-3,B-4, C-2, D-1

Which of the following Himalayan Peaks ¢g.

are not in India?

1. Nanda Devi
Kamet

Namcha Barwa
Gurla Mandhata

AW W

66.

ToTerEgeT Seryud ®iE W A T 82
1. e A€t
Fom A
THaT =
4. TETEE TG

[

[9%]

a1 H feifaa wguw i %9 fHa -1 g 2
L wrEr ¥ St Rt Rrrad
TR EH FaaaT o

hal IYHIT q T ugwo weref

19

S 9 H YUF A 96l STH H
3. A I UM T g I YA FE
4. TR fTu U g U™

Frefafaa § | 928 g i ge=u @i fag
o faedl ¥ ° wE fawen TH

A. ATTERTEA 1. sTUifaes
B. 99T 2. 5 Tz
C. THET =T 3. geA el
D. HIETgT 4. FR Hei

1. A-2,B-1,C-4, D-3
A-3, B-1, C-2, D-4
A-4, B-3, C-2, D-1
4. A-3, B-4, C-2, D-1

]

[9%)

Frafafea & 9«9 9 forer wra o 7= 82
1. &1 <&

2. wHHE

3. AEEl FET

4. TEEAT HETm
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69,

70.

7.

Which of the following statement about g

Indian railways is not correct?

1.

Assertion (A) : Indian farmers should 70.

The Indian Railways is the largest
public sector undertaking in the
country.

The Indian railways is reorganised into
14 zones.

The Indian railways network runs on
multiple gauge operations.

The Indian Railways have been a great
integrating force for more than 150
years.

diversify their cropping pattern from
cereals to high value crops.

Reason (R) : This will increase incomes
and reduce environmental degradation
simultaneously.

1

Five permanent members of United Nations

A is true and R is false
Both A and R are true

Both A and R are true but R is not the
correct explanation of A.

Both A and R are true and R is the
correct explanation of A.

Security Council are -

1

United States, Russia, U.K., Germany,
China

United States, Russia, U.K., France,
China
United States, China, U.K., Japan,
Russia

United States, China, India, France,
Russia

s

ORI I U & Hed § w9 @ aed Hel
TE 872

I

19

(Y

A=t &5 1 Wi g

AN I afEed #1 14 @ yEe § 3
Hehfera fan T 21

T Bl

faser 150 aui | o Afee w09 9 ardE
@ U wewys HHaT® % w9 H ST
EICI

Frfafea w1 o€ aan wE fawes w1 =+
FeT (A) ORGE TRl R IrEEdT e
I =nfeu)

FEU (R) 309 AT Afeed el I s6s
e ATeRel FreeRToT | e S

Iz

-,.

3:

AT € AR R ToE €

A ¥ R =H W& 2

A 3R R TF WE € 9= R A H el
= @ 2

A 3R R =HA TE § WA RA F HE
= B

T U2 1 GLen Ui & e e e ¥
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72. Right to equality implies - 7,
1.

73.  Which language is spoken next to Hindi in 73,

Equal opportunities in matters relating
to employment

Equal opportunities to achieve
whatever one is capable of

Abolition of social discrimination

All of the above

terms of number of people in India?

1.

2.

74.  Which of the following is not a function of 74,

Bengali
Marathi
Tamil

Telugu

the Election Commission in India?

1.

Implementing Code of Conduct

THEA 1 AERR § aed B -

1.

(98]

UTR & AWl § g AR % fow

B SAEHI T ITEI AHAl F HATER HH

FH F GHE TEAE ST HIAT
ISR g9 S Eeq &l

S T

aed § &= & 9% @t S el g9 9

wE G 2?2
1. @met
2. TSI
3. dffFe
4. qe

2. Reservation of seats
3. Free and fair elections
4. Appointing Chief Electoral Officers ® BHIG T o
Pioneer Education | SCO 320, Sector 40-D, Chandigarh +91-9815527721, 0172-4617721 Page 19 of 26
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75.

76.

vt

Consider the following statements - on the

meaning of communal politics, identify the

correct statements from the options given

thereafter.

Communal politics is based on the belief

that -

a. One religion is superior to that of
others

b. People belonging to different religions
can not live together happily as equal
citizens

c. Followers of a particular religion
constitute one community

d. State power can not be used to
establish the domination of one
religious group over others

a,bc
a, b, d
a,cd
b, c,d

-l N

In recent years Infant Mortality rate has
reduced because of -

1. Protection of children from infection
2. Better mother and child care

3. Increase in the health care facilities
4

All of the above

‘Antyodaya Anna Yojna' scheme was 77

launched for the upliftment of -
1. Industrial workers
Farmers

Labourers

&2 e

Rural poor

~
o

76.

AT TSI & 21ef el frafafe Hem
TR Y AR AW fou U fasmew § | 9

faehed =1 @ F
AT TSHITa 39 &on W enefia © fF -
a. U uH T H g9 §

b.

o

(5]

fafa= o9t & @ 9uE A & w0 §
ERi-geft 7 ® Hhd

UF oH & A TH HEEE AN €
T HfHE T W Y ARl Gl e 0
HEH T W wmEA vl w1 9= A8
feran s geRan

a, b, c

a, b, d

a,cd

b, ¢, d

froat w5 o9 ¥ O] g ¢ w92 & wrm ©

)

»

. Tergy =t HwmOT | vam

HEAST & WY a== Rl @
e gansti | gfg

SR Ty

HSARA 3T A YE HT T ol -

[§9]

it s % foo
frarmt & fau
TR i & e

o e ufErl % fag
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78.  Consider the following statements and 73 5 fau 7o J5a=A] 1 92 317 feu 7o fawedi

identify the correct res se f th N = 5
i ify response from the R R —— ]
options given thereafter.

EES R
Statement-| -

A , AT AR SRS O sTefereen St 7T
The most serious economic problems of

India are poverty and unemployment. qHET =l
Statement- |l - -1 -
There is a strong link between economic afefr famrm den feAar 5 & 1 TeT
growth and poverty reduction. ey =)
1. Statement-| is false, Statement-Il is |. TEeE-| Ted €, aeaed- || e 2
true L A
2. THA-| Hel =, dHdd-1l TTead ©
Statement-l is true, Statement-| is false 5. N3 N S
3. QM1 dHdA-1 AR dekasqd-11 el & AN

3. Both Statement-1 and Statement-Il are

; THIA- 11, TFTA-| = T 2
true but Statement-Il is not the correct l ! we B W

explanation of Statement-I 4. THE FgEAA-1 AR FEA-I| TE T IR
4. Both Statement-1 and Statement-I| are THIA- ||, TFTA-| I FEl ATA &

true and Statement-Il is the correct
explantation of Statement-|

79.  The quality of education in a country does 79. fel 391 H S&@ ®1 qorEan [H @ Hl
not depend upon - o

. gfg W=

2. HIEA W W

1. Growth rate
Literacy rate

Health status 3. @ frefg o

R L

Acquisition of skill by people 4 S B wE e B @ e

80. Globalisation has led to improvement in g, dyeiepzor 9 Saq = & GER § FerEd qga'[é
living conditions - 2.

1. | @ & foo

2. fawfod gwif & @i & fao

3. fasmmsfia <wi & gffei & fau

4. I H @ FE T

-k

of all the people

2. of people in the developed countries
3. of workers in the developing countries
4

None of the above
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81.

82.

83.

84.

Pioneer Education | SCO 320, Sector 40-D, Chandigarh +91-9815527721, 0172-4617721

The factorisation of

2p(a-b) + 3q(5a - 5b) + 4r(2b - 2a) yields
1. (b-a)(2p + 15q - 8r)

2. (a-b)(2p - 15q - 8r)

3. (b-a)(2p - 15g + 8r)

4. (a-b)(@p - 15q + 8r)

The sides of a triangle are 11 m, 60 m and
61 m. The altitude of the smallest side is -

1. 1T1m

2. 66m

3. 60m

4. 50m

e (V3 + 1)'
2

then the value of 4x® + 2x2 - 8x + 7 is

1. 8

2. 10
3. 15
4. 14

The volume (in cm?®) of the largest right
circular cone that can be cut off from a cube
of edge 4.2 cmis -

1. 9.7

2. 77.6
3. 58.2
4 19.4

www.pioneermathematics.com

82.

83.

84.

2p(a-b) + 3q(5a - 5b) + 4r(2b - 2a) & TUET
1. (b-a)(2p + 15q - 8r)
2. (a-b)(2p - 15q - 8r)
3. (b-a)(2p - 15q + 8r)

4. (a-b)(2p - 159 + 8r)

TH A & S 11 m, 60 m TE 61 m B

I. 11m

2.. 36 m

3. 60m

4. 50m

=g x=(\/3—+1) B @ 4x3 + 22 - 8X + 7 I
oH ERM -

1. 8

2. 10

3 15

4. 14

42 cm TFR (Yo) & T =@ § FE U
Haq 92 e URF Ve 1 SFad (cm?® H)
e
. 9.7
2. 77.6
3. 58.2
4. 19.4
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85. In agiven fig., if AD = 743; £B=30°, ZADC g5, <1 ¢ 3mhfa |, afg AD = 7v3; £B=30°, ZADC
=90 and £C = 60°, then BC equals to - - 90° 37 £C = 60°7T . BC F1 & B -

A
A
>
B D C [
B D c

1. 14m .
2. 2rm 2. 27m
5 E8m 3. 29m
4. 28m

4. 28 m

86. From an aeroplane vertically above a g86. T BalE SEMN UF Us & HW Ig @ 2| 94
straight horizontal road, the angles of qﬁﬁ' o YR S BARE SEE % 2F a0F e

depression of two consecutive stones on P S . & & 5 %
= 3TE= <h[U 3 HY < S
opposite sides of the aeroplane are = S S Rl

observed to be oo and B. Then the height in gAlE RIS T Fes Het H Ew -
meters of the aeroplane above the road is tano.tanp
I; tanp + tano
tano.tanf , coto.tanp
tanp + tana = cotf + coto
n, coto.tanf3 X tano.tanp
cotp + coto 7 tanp - tano
_tanatanB B
% tanp - tano. gotzlan
: % cotf} - cota

4 cota.tan[é

cotf} - cota

87.  The value of 87. (1 + cot® - cosech).(1 + tand + sec®) F TH

(1 + cot® - cosec).(1 + tan® + secB)

3

s L. =2

1. -2 5 3

2
3. 2

3.
4. 1

4. 1
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88.

89.

90.

91.

If the p" term of an AP is g and the q" term g3, =fz faei AP #1 ph U q B SR qh W pE,

is p, then the n" term is -

1. p+9g-n
2. p+g+n
3. p-g-n
4. g-p-n

The area of the shaded portion where
ABCD is a square of side 14 cm is -

A B
C D
1. 21 cm?

2. 154 cm?

3. 42 cm?

4. 84 cm?

If the distance between the points (4, p) and
(1, 0) is 5, then the value of p is -

1. 4
2. x4
3. -4
4. 0

The probability of guessing the correct
answer to a certain test question is x/12. If
the probability of not guessing the correct
answer is 2/3, then x is equal to -

1. 2
2. 3
3. 4
4. 6

89.

90.

9l

ar ot Ug BN -
l. p+g-n
2. p+Qg+n
3. p=q=n
4. g-p-n

ABCD =i fsmeht =i 14 cm & & Hex feomm

DEIfHT AT H EAFA B -
A B
C D

1. 21 cm?

2. 154 cm?

3. 42 cm?

4. 84 cm?

afe & fagsfi (4, p) a0 (1,0) & weA gh 5
g, d p % AE B -

1. 4
2. =4
3. -4
4. 0

ot wften & wo % W SW H SEE
1 WTHA x/12 €1 AfE 9 W H SHEE A
N HFA I WA 2/3 €, & x WA B
1.
2.

D A W MN
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92.

93.

94,

95,

Students of a class are made to stand in
rows. If one student is extra in a row, there
would be two rows less. If one student is
less in a row there would be three rows
more. The number of students in the class
are -

70

50

60

80

-

oy

In a flight of 600 Km an aeroplane was
slowed down due to a bad weather. If the
average speed for the trip was reduced by
200 Km/h and the time of flight increased
by 30 minutes, then the duration of flight is

1 hr

2 hrs
3 hrs
4 hrs

B e hon 5

A bag contains five red balls and some blue
balls. If the probability of drawing the blue
ball is double that of red ball, then the
number of blue balls in the bag is -

1= 19
20
3. 15
25

If x =2 +2"3 + 228 then x° - 6X® +6X =.........

1. 2

e
w A =

92.

93.

94.

95.

T e & foenfei @ dfeaai § wer feme
T Afg BT ufga o uw famnef efafEa @t
e U 1 wfaEt i el TE | |1 T R
3 o Afe dfgea § 9 uw fomne ww
e <mw, 1 i erfafee e =g S @
e & fenfelai w1 wEwm 2 -

1. 70
2, 50
3. 60
4. 80

TF 600 Km 1 a2 41l & SR @E HiEH
F HRU AEAE T A SR uEd § A
AFAE D A T 200 Km/h =RET 9ET
o/ =R A w1 999 30 e @7 wem

. 1=
2. 292
3. 3%
4. 4%

T 9 § uiE e R 2 3wy Aen 11 2
afg g1 9 Tig kel oM % ®wA H Aed 1]
et =t wifgesRdn el Wi 1 ger | O
21, @ g1 | et W& w1 gen 7 -

I. 19

2. 20
3. 15
4. 25

gfe x =2 +2'8 + 228 =/,

X3 = BX2 +6X: =.cvueeees
le, 2
2. 4
3. 4
4. 3
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96.

97.

98.

99.

100. If

In a triangle ABC; OB and OC are the ¢4 +fz wF st ABC § OB @1 OC wH9l:

bisectors of ZABC and ZACB respectively.
Then £BOC is equal to -

1. 90°- £A/2
2. 90°- ZA
(3; 90° + LZA/2
4. 180°- ZA/2
n+1 n+1
If a_+b" is the arithmetic mean between

a"+b"

a and b, then the value of n is -

ABC is a right angled triangle, having the
right angle at B, such that BC = 6 cm and
AB = 8 cm. Then the radius of incircle is
equal to -

1. 4cm
2. 3cm
3. 2cm
4. 1cm

If the altitude of an equilateral triangle is x 99

cm, then the area is equal to -

1. x2cm?

2. (¥3x#/2) cm?
3. (x®2 A3) cm?
4. (x*/2) cm?

(x - 4) is a factor of 5x? - 7x? - ax - 28 then (.

the value of a is -

1.

ol

35
45
55
25

97.

98.

ZABC @ ZACB % fgarsis € 91 #BOC =1
qH B -

1. 90°- ZA/2
2. 90°- A
3. 90° + ZA/2
4. 1809 - LA/2
ol . d \
Hﬁﬁ;aambmmmw%?ﬁn
1 HE F BAT?
. 0
2. 1
5 o
4. 2

ABC T& TE&Iv 39« & Sl B W T
a1 €, 9% BC =6 cm @um AB=8cm @i,
Hagd =1 e =1 °F e -

1. 4cm
2; 3iem
3. 2¢cm
4. 1cm

U qHaErg Y 1 oreea SaE xom €, @
9% SF%FC H1 HE BN -

I X2iem?

(V3x?/2) cm?

(x2 A3) cm?

(x3/2) cm?

2.
5.
4.

IfZ 5x - 7x2 - ax - 28 1 Tk = (x-4) &
al a &1 HE B8O -

. 35
2. 45
3. 55
4. 25
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